Week 7

1. Find the exact value of
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2. Find all angles between 0 and 720 degrees that satisfy
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3. A tree 96 feet tall cast a shadow 120 feet long, what is the elevation of the sun?

4. Find: 
[image: image3.wmf]÷

ø

ö

ç

è

æ

-

)

2

1

cos(

sin

1

, 
[image: image4.wmf]÷

ø

ö

ç

è

æ

-

-

)

2

1

tan(

sin

1

.

5. Graph one complete period of the following trigonometric function, 
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1. Suppose that a triangle ABC has sides of length a, b, c and that the angle opposite side a is A, the angle opposite side b is B, and that the angle opposite side c is C: if a=60, b=25 and c=22, find angles A, B, and C.

2. Find the exact value of sine of 315 degrees, the cotangent of -22Pi/3 radians.

3. If 
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, find the value of the other 5 trig functions of 
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4. If two legs of a right triangle are 2 and 3 respectively, find 
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, where 
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 is the angle between the hypotenuse and the leg of length 3.

5. The blades of a helicopter are 16 feet long and are rotating at 120 rpm.  Find the angular speed of the blade.  Find the linear speed of the tip of the blade.

1. Suppose that a triangle ABC has sides of length a, b, c and that the angle opposite side a is A, the angle opposite side b is B, and that the angle opposite side c is C: if  a=2, b=8 and C=210 degrees, find angles A, and B, and side c.

2. Suppose that a triangle ABC has sides of length a, b, c and that the angle opposite side a is A, the angle opposite side b is B, and that the angle opposite side c is C: if  a=5, c=3 and C=10 degrees, find angles A, B, and b. 

3. Find the exact value of 
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4. A potter’s wheel with radius 8 in. spins at a rate of 150 rpm.  Find the angular and linear speeds of a point on the rim of the wheel.

5. Find the exact value of 
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